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Candidates are required to give their answers in their

1. Answer any five questions:

own words as far as practicable.

2x5=10
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a)

b)

c)

d)

Define depreciation cost.
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What is per capita national income?
T2y wreR i (52

What is meant by trade surplus?
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Suppose a country GDP is Rs 5600, domestic
residents receive factor payments from abroad
of Rs 70 and foreigners receive Rs. 120 as factor
payments from this country. What is the value
of GNP?
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g)

h)

213/Eco.

¥F @M @R GDP 5600 56| (redm isifacsal
RO (I ST SR 2R A1 70 B=el @ ot
Tl ToAmitTa =R 23103 @3 ol (2t 120 51
S[Ge T, IR GNP-7 o0 el 31|

Define Stagflation.
Stagflation-43 e WG |

What would be the shape of the IS curve if

investment is completely interest inelastic?
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What will be the shape of consumption function
if mpc=1 with no autonomous consumption
expenditure? What will be the value of mps in

this case?
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What is speculative demand for money?
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2. Answer any two of the following:

5x2=10
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a)

b)
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Distinguish between :

A1 TlS ¢

1) Final good and intermediate good
I AR T € NGISIFIRA T |

11) GDP deflator and CPI

GDP "z ¢ (Sield wis 3355 (CPI)

Consider an economy where wheat, flour, bread
and sandwiches are produced only and total sales
receipts from these four products are 53, 75,
215 and 300 respectively. (i) Find out the GDP
and (i1) Calculate the value added of each of the

four producers.
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Explain the basic macroeconomic identity and
show why the total investment, domestic and
foreign, must always be equal to the total savings

of the economy. (assuming no foreign transfer)
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d)

3. Answer any one of the following :
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What is the impact of a change in Govt.
Expenditure on Budget Deficit? [assuming t =
t(y)]
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Obtain the equilibrium values Y and S for,
C=25+.7Y, I=5+.2Y. What will happen to
equilibrium 'S' if autonomous C increases to 30?

11+1442=5
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a)
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Explain the role played by inventories in the
adjustment process towards equilibrium in the
Keynesian cross model. Comment on the

stability condition in this context. 7+3
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b)

c)

213/Eco.

i)

Assuming taxes are exogenous, derive the
tax multiplier and compare the multiplier
with government purchases multiplier in

absolute terms.
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Explain briefly the concept of the paradox
of thrift. 5+5
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Suppose the following equations describe an

cconomy:

C=0.8(1-1)Y, t=.25y, 1=900-50r, G =800,

MP=.25Y-62.5r, M* =500.

3+24+3+2

& 93 wgSifore 7w C=0.8(1-1)Y, t=.25y,
[=900-50r, G =800, MP=25Y-62.5r, M® =500
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)

What is the equation that describes the IS

curve? Comment on its slope.
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ii)

iif)

What is the equation that describes the LM

curve?
LM @IF w9 & 2@

What are the equilibrium levels of income

and the interest rate?
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Find out the equilibrium Y, if money demand

1s interest inelastic. 3+2+3+2
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